AK EK PK BRK BMK MK

Part # Tool 5 3 5 1 17 17
647L/647R | T47 Taps 3
648L/648R | T47 Guides .
690-XL 57.0 mm Facing Cutter .
690-XXL | 65.0 mm Facing Cutter .
750.2 Centering Cone Adapter .
751.2 30.1mm (1”) Reamer .
768 43.8 mm Pilot .
769 Reamer Extension .
788 43.95mm Reamer .
790 55.9 mm Pilot .

SRAM® Bleeding Edge ™ (Mineral

2602A | 4i)) Adapter for BKM-1.2 |
2197 Diamond Abrasive Adapter for DT-5.2 .
ASC-1 Anti-Seize Compound - 4 0z e o
ATD-1.2 Adjustable Torque Driver e o o o o
AV-5 Axle and Spindle Vise Inserts o o
AWS-1 Three-Way Hex Wrench - 4/5/6 mm e e o o o o
AWS-3 Three-Way Hex Wrench - 2/2.5/3 mm e o o o
AWS-7 Hex/Torx®-Compatible Wrench o | o
BBB-4 Big Blue Book of Bicycle Repair .

BBP-1.2 Bottom Bracket Bearing Press e o
BBP-AOS | Bottom Bracket Bearing Extractor e o
sora | Sotomroctatioe, 3P
BBT-5/ Bottom Bracket/Cassette Lockring .| e
FR-11 Tool - Campagnolo®

BBT-9 ?;-t,a%Tcﬁracket/Locknng Tool A oll o
BBT-10.2 | Adjusting Cap Tool - Hollowtech 11® e o o o
BBT-16 Self-Extracting Crank Cap Tool * o
BBT-18 Bottom Bracket/Lockring Tool - 8-Notch * o o
BBT-19.2 | Bottom Bracket Tool - 16-Notch o o
BBT-22 Bottom Bracket Tool - 20-Spline o |0 ||
BBT-27.3 | Bottom Bracket Tool - 16-Notch o | o
seT0s | bes FLBoten Bacet ar
BBT-32 Bottom Bracket Tool - 20-Spline .

BBT-35-12  Bottom Bracket Tool - 12-Notch ° o
BBT-35-36 | Bottom Bracket Tool - 36-Notch LI
BBT-47-12 | Bottom Bracket Tool - 12-Notch ° o
BBT-47-16 | Bottom Bracket Tool - 16-Notch o o
BBT-49.3 | Bottom Bracket Tool - 16-Notch o |
BBT-59.3 | Bottom Bracket Tool - 16-Notch o o
BBT-69.4 ?:_t't‘%TCEracket/Lockrmg Tool oelol|ele
BBT-79.3 | Bottom Bracket Tool - 12-Notch oo |0
seTs0s | HeseFiBoton Bacet e
BBT-RS Bottom Bracket Tool Retaining System e o o
BCB-5 Professional Bike Cleaning Brush Set e o
BKD-1.2 Hydraulic Brake Bleed Kit- DOT o | o
BKM-1.2 | Hydraulic Brake Bleed Kit - Mineral e o
B0-2 Bottle Opener e o o e o
B0O-6 Bottle Opener e o
BSH-4 Bladed Spoke Holder o o
BT-2 Fourth Hand Brake Tool o o
BTS-1 Bottom Bracket Tapping & Facing Set 3
CBW-1 Open End Wrench - 8/10 mm . e o
CBW-4 Open End Wrench - 9/11 mm . ° | o
cc-2 Chain Checker e o
CC-4.2 Chain Wear Indicator e o o o o o
CCP-22 Crank Puller o o
CCP-44 Crank Puller ° o
CF-2 Cutting Fluid - 8 0z o o
CL-1.2 Chain Lube - 4 0z o o
CM-5.3 Cyclone™ Chain Scrubber .

CM-25 Professional Chain Scrubber o o
CN-10 Cable and Housing Cutter L )
CNW-2 Chainring Nut Wrench e o o o o o
CP-1.2 Cassette Pliers o | o |
CRP-2 Adjustable Crown Race Puller * o
CRS-1 Crown Race Setting System e o
CRS-15.2 | 1.5” Crown Race Setting System e o
CSB-1 Carbon Cutting Saw Blade e o
CSH-1 Clamping Spoke Holder e o
CT-3.3 Chain Tool o e o o

CT-15 Professional Chain Tool o o
CWP-7 Compact Crank Puller e o o

DAG-2.2 Derailleur Hanger Alignment Gauge .

DAG-3 Derailleur Hanger Alignment Gauge e o o
DC-2 Digital Caliper o o
DCA-1 Digital Caliper Accessory e o
DCW-1 Cone Wrench - 13/14 mm e | 2

DCW-2 Cone Wrench - 15/16 mm e 2

DCW-3 Cone Wrench - 17/18 mm o | o

DF-1 Dummy Fork e o
DH-1 Dummy Hub . e o o o
DHD-2 2mm Precision Hex Driver o o
DHD-25 2.5mm Precision Hex Driver o o
DHD-3 3 mm Precision Hex Driver o |
DP-2 Threaded Dummy Pedal . e o
DS-1 Digital Scale e |
DS-2.2 Tabletop Digital Scale * o
DSD-2 Derailleur Screwdriver - Cross-Tip e o o o o
DSD-4 Derailleur Screwdriver - Flat Blade (RN

AK EK PK BRK BVK MK

Part # Tool 5 3 5 1 17 17
DT-2 Rotor Truing Fork e o o o o o
DT-3 Rotor Truing Gauge ° o
DT-3i.2 Dial Indicator for DT-3 o |
DT-5.2 Disc Brake Mount Facing Set .
DTD-8 T8 Precision Driver o o
DTD-10 T10 Precision Driver LI
DW-2 Derailleur Clutch Wrench o o
EP-1 End Cap Crimping Pliers o o o
EWS-1 Electronic Shift Tool - EW-SD50 e o o
EWS-2 Electronic Shift Tool - EW-SD300 o o o
FCT-1 Fork Cap Tool o o
FFG-2 Dropout Alignment Gauge Set ° o
FR-1.3 Freewheel Remover - Shimano®, etc. oo |
FR-2 Freewheel Remover - SunTour® LI
FR-3 Freewheel Remover - SunTour® o |
FR-4 Freewheel Remover - Atom®, etc. o o
FR-5.2 Cassette Lockring Tool . o o
frszs | Sosetolacking ol ap
frazor | Ceseleloching ol e
FR-5.2H Cassette Lockring Tool with Handle e o o o o
s ol femovr .
FR-7 Freewheel Remover - Falcon® LI
FR-8 Freewheel Remover - BMX o |
GG-1 Grease Gun LI
GSC-1 GearClean™ Brush LI R A B
GSC-3 Drivetrain Cleaning Brush o o o
GSC-4 Bicycle Cassette Cleaning Brush e o o
HBH-3 Handlebar Holder o o
HBP-1 Hub Bearing Press Set o o
HBT-1 Hydraulic Barb Tool o o
HCW-4 gz;tgnl:d!‘:ircaocnk:tWrench ol e
owss | Botom Brecer Woneh .
HCW-7 30 mm/32 mm Headset Wrench e o
HCW-11 glcjlst»c;nn'ldl?rcaocnk:tWrench = ol e
HCW-15 | 36 mm/32 mm Headset Wrench . o o
HCW-16.3 | Chain Whip / Pedal Wrench .

HCW-17 Fixed-Gear Lockring Wrench o o
vowg | Bt Brcketrech ap
HHP-2 Bearing Cup Press o o
HMR-4 Shop Hammer - 21 oz. ° o
HMR-8 Shop Hammer - 8 oz. e o o o o
HPG-1 High Performance Grease - 4 oz. o
HT-6 Hex Tool - 6 mm o o
HT-8 Hex Tool - 8 mm . o | o
HT-10 Hex Tool - 10 mm o o
HTR-1B Head Tube Reaming and Facing Set .
HXS-1.2 L-Shaped Hex Wrench Set e o o o o o
HXS-3 Stubby Hex Wrench Set o | o
INF-2 Shop Inflator o o
IR-1.3 Internal Cable Routing Kit oo |
JH-1 Benchtop Small Parts Holder o o
T S e
JH-3 TWO?)IIIOIYI;:nr}tZZl:Sucket,Blt&Torque ol e
JH-4 Wall-Mounted Bleed Kit Organizer 2 2
LP-7 Utility Pliers . o o o
LRT-1 Lockring Tool - Bosch® Gen 2 ° o
LRT-2 Lockring Tool - Shimano® STEPS® o o
LRT-3 Lockring Tool o | o
LRT-4 Lockring Tool - Shimano® Direct Mount o o
LRT-5 Lockring Tool - Fazua® Ride60 ° | o
MB-1 Magnetic Bowl o o
MG-3 Nitrile Mechanic’s Gloves (all sizes) o | o
MLP-1.2 | Master Link Pliers oo |o|e e o
QAEV¥2 Metric Wrench Set - 6to 17 mm o | e
MW-8 Metric Wrench -8 mm . .

MW-9 Metric Wrench - 9 mm . .

MW-10 Metric Wrench - 10mm ] .

MW-15 Metric Wrench - 15 mm .

MWE-3 Metric Flare Wrench oo |
ND-1 Spoke Nipple Driver ° o
NP-6 Needle Nose Pliers oo ||
0BW-4 Offset Brake Wrench LI
0M-1 Benchtop Overhaul Mat o o
0M-2 Benchtop Overhaul Mat o
PAW-6 Adjustable Wrench - 6" e o o o
PAW-12 Adjustable Wrench - 12" o o o o
PH-1.2 P-Handled Hex Wrench Set . o o
FIP=A12 Hydraulic Brake Piston Press o | o
PPL-2 PolyLube 1000 Grease - 16 0z. tub o o
PS-1 Disc Brake Pad Spreader e o o
PTS-1 Tire Seating Tool o o
PW-4 Professional Pedal Wrench o o o o | o
PZT-2 Pizza Tool o o
QTH-1 Quick-Change Bit Driver Set ° o
RP-SET.2 | Ring Pliers Set o o
RR-12.2 Tape Measure e o o o o o

AK EK PK BRK BMK MK

Part # Tool

5 3 5 1 17 17
RT-1 Headset Cup Remover e o
RT-2 Steering Race Remover ° o
SA-3 Shop Apron o o

rGri rbon and All
Sh2 izgsE:n?bl\f(ZC:mbp%uZdr{Aogy °l°
SAW-1 Hacksaw o o
SBC-1 Spoke, Bearing and Cotter Gauge o | o | |0
SBK-1 Suspension Bearing Kit e o
SBS-1.2 Socket and Bit Set - 18 pieces o |
SBS-3 Socket and Bit Set - 37 pieces e o
SCW-SET.3 | Shop Cone Wrench Set * x| e e
SD-0 Screwdriver - #0 Phillips .
SD-2 Screwdriver - #2 Phillips .
SD-3 Screwdriver - 3mm Flat Blade . .
SD-SET Four-Piece Screwdriver Set o |
SG-6 Threadless Saw Guide o o
S$G-7.2 Oversized Adjustable Saw Guide ° o
SG-8 'I[:'l‘;:sgls?tsesFSoar:/sGuldefor Carbon ol o
SHX-1 Slide Hammer Extractor o o
SP-7 Side Cutter Pliers . o o
SPA-1 Cup-and-Cone Pin Spanner o | o
SPA-2 One Key Release Pin Spanner .
SPA-6 Adjustable Pin Spanner o | o
SR-12.2 Chain Whip - 5- to 13-Speed Compatible e o o
SR-18.2 Chain Whip - For 1/8" Cogs ° o
ST-3 Three-Way Socket Wrench - 8/9/10 mm o o
STL-2 Rolling Adjustable Shop Stool * o
SW-0 Spoke Wrench - 3.23 mm e o o o o o
SW-1 Spoke Wrench - 3.30 mm e o
SW-2 Spoke Wrench - 3.45 mm e o o e o o
SW-3 Spoke Wrench - 3.96 mm e o o
SW-5 Spoke Wrench - DT Swiss® Tricon o o
SW-6 Spoke Wrench - 3.7 mm e o o
SW-9 Double-Ended Spoke Wrench e o
SW-11 Spoke Wrench - Campagnolo® * o
SW-12 Spoke Wrench - Mavic® o o
SW-13 Spoke Wrench - Mavic® e o
SW-14.5 | Spoke Wrench - Shimano® ° o
SW-15 3-Way Internal Nipple Wrench * | o
was | e Noole Spn Wron e
swn i g |-
WA e Socker |
SW-40 Four-Sided Spoke Wrench - 3.23 mm e o
SW-42 Four-Sided Spoke Wrench - 3.45 mm o o
SWB-15 | 3/8” Drive Breaker Bar o o
SWR-8 3/8" Drive Ratchet Handle oo ||
SZR-1 Shop Scissors e o o o o
TAP-3 Pedal Tap Set-1/2" ° o
TAP-6 Pedal Tap Set-9/16" o | o
TAP-7 Frame Tap - M3x 0.5 e o
TAP-8 Frame Tap - M5x0.8 o | o
TAP-9 Frame Tap - M6x 1.0 e o
TAP-10 Frame Tap - M10x 1.0 o o
TH-1 Tap Handle - M1.6 to M8 e o
TH-2 Tap Handle - M4 to M12 ° o
TH-3 Tap and Bit Driver e o
THH-1 Sliding T-Handle Hex Wrench Set * e e
o o "
THT-1 Wl:ie::ghTSiindle Torx®-Compatible P O
TK-4T Bench Top Tool Kaddie o o
TL1.2 Tire Lever Set . .
TL-4.2 Tire Lever Set . o | o
TL-5 Heavy Duty Steel Tire Lever Set e o
TL-6.3 Steel Core Tire Lever Set oo o o o
TM-1 Spoke Tension Meter e o
TNS-4 Deluxe Threadless Nut Setter oo
TS-4.2 Professional Wheel Truing Stand e o
TS-2Di Dial Indicator Gauge Set ° o
TSB-4.2 Truing Stand Base e o
TSI-1 Tubeless Sealant Injector ° o
TW-5.2 Small Click-Type Torque Wrench e o o
TW-6.2 Big Click-Type Torque Wrench e o o
TWB-15 | 15mm Pedal Wrench Crow Foot o o
TWB-36 | 36 mm Crow Foot o o
TWS-1 Torx®-Compatible Wrench Set o | o |0 ||
TWS-2 Fold-Up Torx®-Compatible Wrench Set e o
® i -!

TWS-3 T'.i'% ?;;ﬁg})lble Three-Way Wrench elole
UP-SET | Utility Pick Set LI 2 2 )
Ve-1 Valve Core Tool e e o o o o
WAG-4 Wheel Alignment Gauge ° o
WH-1 Wheel Holder o o
ZP-5 Flush Cut Pliers e oo o o

*Kit includes incomplete version of set — see parktool.com for details
© 2025 Park Tool Co. | PARK TOOL® and the color BLUE are registered trademarks of Park Tool Co. |
All other referenced trademarks and trademark registrations are the property of their respective owners.



